Step 1: Chart in Excel 2002

A | B | C | D | E | F | G | H

Books 3000 3300 3600 3300 13800
Accessories 2000 2200 2400 2600 8200
Computers 1000 1100 1200 1300 4600
Total k000 BEO0 7200 7800 27600
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Step 2: Imported to Calc 2.3
Orientation of the Chart different from Step 1!

4 [ B [ c [ D | E | F | G | H
Books 3000 4300 3R00 2900 13800
Accessories 2000 2200 2400 2800 S200
Computers 1000 1100 1200 1300 4600
Total G000 BEO0 7200 7800 27600
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Step 3:

3D settings in OpenOffice.org according to calculation sheet from Regina.

Still Problem: Chart not usable, because of unfavorable position of walls an captions!
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